

Nonexistence of entire solutions to some nonlinear elliptic equations

AHMED MOHAMMED AND FETHI BIN MUHAMMAD BELGACEM

¹Department of Mathematics, Temple University Philadelphia, PA 19122, USA.

e-mail: ahmed@euclid.math.temple.edu

²Department of Mathematics and Computer Science, Faculty of Science, Kuwait University, P.O.Box 5969, Safat 13060, KUWAIT.

e-mail: belgacem@mcs.sci.kuniv.edu.kw

ABSTRACT

We prove the nonexistence of entire solutions to elliptic equations of the form $\operatorname{div}(|\nabla u|^{p-2}\nabla u) + \beta(x)f(u) = g(x)$, $p > 1$ under some conditions on β, g , and the nonlinearity f . Typical models for f include the exponential and power functions. All Theorems proved herein generalize some previously known results, when $p = 2$.

Keywords: Entire Solutions; Nonlinear Elliptic Equations.

1. INTRODUCTION

Oleinik (19978) considers the problem of nonexistence of solutions to the semilinear equation $\Delta u + \beta(x)e^u = g(x)$ under some conditions on $\beta(x)$ and $g(x)$. This problem arises in a geometric context where one tries to find conditions on a smooth function β such that β is the Gaussian curvature of a conformal metric $\tilde{g} = e^{-2u}g$ where g is a given metric on some Riemannian manifold (See NI 1982b for details). As a result, related problems of existence or nonexistence have been studied extensively by several authors, such as in benjin & Zucki (2000), Mitidieri & Pokhozhaev (1998), Pucci & Serrin (1988a,b), Bernard (1996), Gui (1992), Lin (1985), Ni (1982a,b), Sattinger (1978), and references therein.

In this paper, we extend the results of Oleinik (1978) to the quasilinear elliptic equations

$$\Delta_p u + \beta(x)f(u) = g(x),$$

where $f \in C(\mathbb{R})$ is not identically zero and Δ_p is the p -Laplace operator:

$$\Delta_p u := \operatorname{div}(|\nabla u|^{p-2}\nabla u), \quad 1 < p < \infty.$$

To further stipulate on f , let us use the notation:

$$\sigma := \inf\{\tau : f(s) > I(f), s > \tau\},$$

where

$$I(f) := \inf\{f(s) : s \in \mathbb{R}\} \geq 0.$$

We seek entire solutions of the following equation

$$\begin{cases} \Delta_p u + \beta(x) f(u) = g(x), & x \in \mathbb{R}^n, \\ u(x) > \sigma & x \in \mathbb{R}^n. \end{cases} \quad (1.1)$$

An entire solution to Equation (1.1) is a function $u \in C^2(\mathbb{R}^n)$ that satisfies the equation at every point in \mathbb{R}^n . The nonlinear function f will be assumed in $C^2(\sigma, \infty)$, satisfying the following conditions:

$$f'(s) > 0, f''(s) \geq 0 \text{ on } (\sigma, \infty), \text{ and } (f^{-1})'(t) \leq \mu t^{-\alpha} \text{ on } (0, \infty). \quad (*)$$

Here, the constants $\mu, \alpha > 0$, and f^{-1} denotes the inverse of f on (σ, ∞) . Typical models for f are power functions ($f(s) = |s|^q, q > 1, \sigma = 0$), and the exponential function ($f(s) = e^s, \sigma = -\infty$). The methods used herein are similar to those of Oleinik (1978).

2. The case when $\beta(x) \leq 0$ and $g(x) \leq 0$

We need the following Lemma for our first nonexistence result.

Lemma 2.1. *Suppose f satisfies (*) with $\alpha > (p-2)/(p-1)$, and that $\beta(x) \leq -\beta_0$ for $x \in B(x_0, R)$ and some constant $\beta_0 > 0$. If $u \in C^2(B(x_0, R))$ is a solution of (1.1) with $g(x) \geq 0$ in $B(x_0, R)$, then there is a positive constant $C = C(n, \alpha, p)$ such that*

$$f(u(x_0)) \leq C \beta_0^{-1/(\alpha(p-1))} R^{-\varrho} + I(f),$$

where,

$$\varrho := p \left(\frac{2}{\alpha(p-1) - (p-2)} - \frac{1}{\alpha(p-1)} \right).$$

Proof. Without loss of generality we can assume that $I(f) = 0$, for otherwise we replace f by $(f = I(f))$ in Equation (1.1), and since $g(x) - \beta(x)I(f) \geq 0$ on \mathbb{R}^n , the following argument would still be valid.

Let $v_0(x) := \gamma(r^2 - |x - x_0|^2)^{-k}$, where $k := p/[(\alpha(p-1) - (p-2))]$ with α as in (*), while γ is to be specified below. Notice that $k > 0$, by hypothesis. Then, since $(f^{-1})'' \leq 0$, we see that

$$\begin{aligned} \Delta_p f^{-1}(v_0) + \beta(x)v_0 &= (p-1)((f^{-1}(v_0))^{p-2}(f^{-1})''(v_0)|\nabla v_0|^p \\ &\quad + ((f^{-1})'(v_0))^{p-1} \Delta_p v_0 + \beta(x)v_0 \leq ((f^{-1})'(v_0))^{-1} \Delta_p v_0 + \beta(x)v_0 \end{aligned} \quad (2.1)$$

Direct calculations yield:

$$\Delta_p v_0 = (R^2 - |x - x_0|^2)^{-m} (a_{\alpha,p}|x - x_0|^p + b_{\alpha,p}(R^2 - |x - x_0|^2)|x - x_0|^{p-2}),$$

where

$$\begin{cases} a_{\alpha,p} := 2(k+1)(p-1)(2\gamma k)^{p-1}, \\ b_{\alpha,p} := (p-2+n)(2\gamma k)^{p-1}, \\ m := (k+1)(p-1) + 1. \end{cases}$$

Using this in Equation (2.1), and letting $c_{\alpha,p} := a_{\alpha,p} + b_{\alpha,p}$, we see that

$$\begin{aligned} \Delta_p f^{-1}(v_0) + \beta(x)v_0 &\leq ((f^{-1})'(v_0))^{p-1} (r^2 - |x - x_0|^2)^{-m} \times \\ &\quad \times [c_{\alpha,p}R^p - \beta_0(R^2 - |x - x_0|^2)^{m-k}((f^{-1})'(v_0))^{1-p}]. \end{aligned} \quad (2.2)$$

From (*), we have $(f^{-1})'(v_0) \leq \mu v_0^{-\alpha}$, and therefore we get the estimate

$$(R^2 - |x - x_0|^2)^{m-k}((f^{-1})'(v_0))^{1-p} \geq \mu^{1-p}\gamma^{\alpha(p-1)}(R^2 - |x - x_0|)^{m-k-k(\alpha(p-1))}.$$

Recalling the values of m and k , we observe that $k - k - k(\alpha(p-1)) = 0$. thus, using this in Equation (2.2), we obtain the estimate

$$\Delta_p f^{-1}(v_0) + \beta(x)v_0 \leq ((f^{-1})'(v_0))^{p-1} (R^2 - |x - x_0|^2)^{-m} \left(c_{\alpha,p}R^p - \frac{\beta_0}{\mu^{p-1}}\gamma^{\alpha(p-1)} \right).$$

We choose γ as,

$$\gamma := (c_{\alpha,p}\mu^{p-1}R^p\beta_0^{-1})^{1/(\alpha(p-1))},$$

to get the inequality

$$\Delta_p f^{-1}(v_0) + \beta(x)v_0 \leq 0, \quad \forall x \in B(x_0, R).$$

Now, let $0 < \epsilon < 1$, and $v := f(u)$. Since $f^{-1}(t) \rightarrow \infty$ as $t \rightarrow \infty$, and u is bounded on $B(x_0, (1 - \epsilon)R)$, it follows that $f^{-1}(v) < f^{-1}(v_0)$ on $\partial B(x_0, (1 - \epsilon)R)$ for sufficiently small ϵ . We claim that $f^{-1}(v) \leq f^{-1}(v_0)$ on $B := B(x_0, (1 - \epsilon)R)$.

Suppose not. This means that at some point in B , $f^{-1}(v) > f^{-1}(v_0)$. Then $f^{-1}(v) = f^{-1}(v_0)$ on $\partial \Omega$ where $\Omega := \{x \in B : f^{-1}(v)(x) > f^{-1}(v_0)(x)\}$. Since f is increasing, we see that $v > v_0$ on B . Therefore for $x \in \Omega$, we have:

$$\Delta_p f^{-1}(v) - \Delta_p f^{-1}(v_0) = -\beta(x)(v - v_0) + g(x) - (\Delta_p f^{-1}(v_0) + \beta(x)v_0) \geq 0.$$

Thus, by the Comparison Principle (See Tolksdorf 1983) we have $f^{-1}(v) \leq f^{-1}(v_0)$ on Ω , which is an obvious contradiction. Thus $f^{-1}(v) \leq f^{-1}(v_0)$ on $B(x_0, (1 - \epsilon)R)$. Since ϵ is arbitrary, and f is increasing we conclude, that

$$f(u(x)) \leq \gamma((R^2 - |x - x_0|^2)^{-k}), \quad \forall x \in B(x_0, R).$$

Thus,

$$f(u(x_0)) \leq C\beta_0^{-1/(\alpha(p-1))} R^{-\left(\frac{2p}{\alpha(p-1)-(p-2)} - \frac{p}{\alpha(p-1)}\right)},$$

where $C = C(\alpha, n, p)$ is a positive constant, as desired.

In the following theorem, ϱ denotes the constant in the previous Lemma.

Theorem 2.2. *Let f satisfy (*) with $\alpha > |p - 1|/(p - 1)$. Suppose $\beta(x) \leq 0$ in \mathbb{R}^n , and that $|\beta(x)| \geq \theta(|x|)|x|^{-\varrho\alpha(p-1)}$ for $|x| \geq R_0 > 0$, where $\theta(t) \rightarrow \infty$ as $t \rightarrow \infty$, $\theta(t) > 0$ for $R_0 \leq t < \infty$ and $\theta(t)t^{-\varrho\alpha(p-1)}$ is a non-increasing function of t . Then Equation (1.1) has no entire solution for $g(x) \geq 0$ in \mathbb{R}^n .*

Proof. As in the previous proof, we can assume that $I(f) = 0$. Suppose $u \in C^2(\mathbb{R}^n)$ is a solution, and let $x \in \mathbb{R}^n$ with $|x| = r > R_0$. We apply Lemma 2.1 to the ball $B(x, r - R_0)$. Since $|y| \leq 2|x| - R_0$ for $y \in B(x, r - R_0)$. we have $\theta(|y|)|y|^{-\varrho\alpha(p-1)} \geq \theta(2|x| - R_0)(2|x| - R_0)^{-\varrho\alpha(p-1)}$, by hypothesis. Therefore, we can estimate $\beta(y)$ as

$$\beta(y) \leq -\theta(2|x| - R_0)(2|x| - R_0)^{-\varrho\alpha(p-1)} = -\beta_0.$$

We then apply Lemma 2.1 to obtain

$$f(u(x)) \leq \frac{C}{(|x| - R_0)^q} \beta_0^{-1/\alpha(p-1)} \leq C \theta (2|x| - R_0)^{-1/\alpha(p-1)},$$

for large $|x|$. Thus, as $|x| \rightarrow \infty$ we see that $f(u(x)) \rightarrow 0$. Now let $v := f(u)$. First we point out that

$$\begin{aligned} 0 \leq g(x) &= \Delta_p f^{-1}(v) + \beta(x)v \\ &= ((f^{-1})'(v))^{p-1} \Delta_p v + (p-1)((f^{-1})'(v))^{p-2} (f^{-1})''(v) |v|^2 + \beta(x)v, \end{aligned}$$

so that

$$((f^{-1})'(v))^{p-1} \Delta_p v \geq -(p-1)((f^{-1})'(v))^{p-2} (f^{-1})''(v) |v|^2 - \beta(x)v.$$

Since $(f^{-1})' > 0$, $(f^{-1})'' \leq 0$ by (*), $\beta(x) \leq 0$, and $v \geq 0$ by hypothesis, we conclude that $\Delta_p v \geq 0$. Therefore, by the Maximum Principle we obtain

$$\max_B \leq \max_{\partial B} v$$

for any ball $B \subseteq \mathbb{R}^n$. thus, if $x \in \mathbb{R}^n$ and R is large enough such that $x \in B(0, R)$, we have

$$0 < f(u(x)) \leq \max\{f(u(y)) : |y| = R\}.$$

Since $f(u(y)) \rightarrow 0$ as $|y| \rightarrow \infty$, we have a contradiction. Therefore, a solution u to Equation (1.1) cannot exist under the prescribed conditions. This establishes Theorem 2.2.

Remark 2.3. For $p = 2$, this result was obtained by Oleinik (1978), with $f(s) = e^s$, and by Lin (1985) with $f(s) = |s|^q$.

3. The case when $\beta(x) \geq 0$ and $g(x) \leq 0$

Theorem 3.1. *Suppose $\beta(x) \geq 0$ on $B(0, R_0)$ and that $\beta(x) \geq C_a |x|^{-a}$ for all $|x| \geq R_0$, for some constants $C_a > 0$, $a \in \mathbb{R}$, and $R_0 \geq 1$. Suppose further that f satisfies (*), $g(x) \leq 0$ on \mathbb{R}^n , and that $p = 2$. Then Equation (1.1) has no entire solution u satisfying the condition*

$$u(x) \geq f^{-1}(C_b |x|^{-b}), \quad \forall x \in \mathbb{R}^n \quad \text{with } |x| \geq R_0, \quad (3.1)$$

for some constant $C_b > 0$, and some exponent b in \mathbb{R} , such that $a + \alpha b < 2$.

Proof. Upon multiplying Equation (1.1) by $f(u)^{-1}$, and integrating it on the ball $B := B(0, R)$ we find that

$$\int_B (f(u)^{-1} \Delta u + \beta(x)) dx \leq 0.$$

Let us note that $\operatorname{div}(f(u)^{-1} \nabla u) = -f(u)^{-2} f'(u) |\nabla u|^2 + f(u)^{-1} \Delta u$. Using this fact. Green's Theorem, and the the previous integral, we obtain

$$\int_B \left(\frac{f'(u)}{f(u)^2} |\nabla u|^2 + \beta(x) \right) dx \leq - \int_{\partial B} f(u)^{-1} \nabla u \cdot \eta d\sigma \leq \int_{\partial B} \frac{|\nabla u|}{f(u)} d\sigma,$$

where η is an outward unit normal vector to the sphere $\partial B(0, R)$. Now, by Hölder's Inequality, we have the following estimate concerning the last surface integral,

$$\begin{aligned} \int_{\partial B} \frac{|\nabla u|}{f(u)} d\sigma &\leq \left(\int_{\partial B} \frac{f'(u)}{f(u)^2} |\nabla u|^2 d\sigma \right)^{1/2} \left(\int_{\partial B} (f'(u))^{-1} d\sigma \right)^{1/2} \\ &= \left[\left(\int_{\partial B} \frac{f'(u)}{f(u)^2} |\nabla u|^2 d\sigma \right)^{1/2} \left(\int_{\partial B} \beta(x) d\sigma \right)^{1/2} \right] \times \\ &\quad \left[\left(\int_{\partial B} (f'(u))^{-1} d\sigma \right)^{1/2} \left[\int_{\partial B} \beta(x) d\sigma \right]^{1/2} \right]. \end{aligned}$$

Moreover, using the Cauchy-Schwarz Inequality, together with conditions in (*), and those given in Equation (3.1), we obtain, for $R \geq R_0$,

$$\begin{aligned} \int_B \left(\frac{f'(u)}{f(u)^2} |\nabla u|^2 + \beta(x) \right) dx &\leq \frac{1}{2} \left(\int_{\partial B} \left(\frac{f'(u)}{f(u)^2} |\nabla u|^2 + \beta(x) \right) d\sigma \right) \times \\ &\quad \left(\int_{\partial B} ((f^{-1})'(C_b^{-1}|x|^b))^{-1} d\sigma \right)^{1/2} \times (C_a^{-1} R^a)^1 |\partial B|^{-1/2} \leq \\ &\quad \frac{1}{2} \left(\int_{\partial B} \left(\frac{f'(u)}{F(u)^2} |\nabla u|^2 + \beta(x) \right) d\sigma \right) (\mu C_a^{-1} C_b^{-\alpha} R^{(a+\alpha b)})^{1/2}. \end{aligned}$$

Thus, we get the differential inequality

$$F(R) \leq \gamma R^{(a+\alpha b)/2} F'(R), \quad (3.2)$$

where

$$F(R) := \int_{B(0,R)} \left(\frac{f'(u)}{f(u)^2} |\nabla u|^2 + \beta(x) \right) dx, \quad \text{and} \quad \gamma := \frac{1}{2} (\mu^{-1} C_a C_b^\alpha)^{-1/2}.$$

Let us fix some $R^* > R_0$. Multiplying both sides of (3.2) by

$$-\gamma^{-1} R^{-a+\alpha b)/2} \Psi(R),$$

where

$$\Psi(R) := \exp\left(-\gamma^{-1} \int_{R^*}^R t^{-(a+\alpha b)/2} dt\right),$$

we obtain $\Psi'(R)F(R) \geq -\Psi(R)F'(R)$, or $(\Psi(R)F(R))' \geq 0$. Integrating this inequality on (R^*, R) . we get

$$F(R^*) \leq \Psi(R)F(R), \quad R_0 < R^* < R. \quad (3.3)$$

We now estimate $F(R)$ for $R > R^*$. To this end, let us pick $0 \leq \phi \in C^\infty(\mathbb{R}^n)$ with $\text{supp}(\phi) \subseteq B(0, R+1)$, $\phi \equiv 1$ on $B(0, R)$ and satisfying $|\nabla \phi|^2 \leq M\phi$ for $f(u)^{-1}\phi$ and integrating the resulting expression we find that

$$\int_{B(0,R+1)} \left(\frac{f'(u)}{f(u)^2} |\nabla u|^2 \phi - f(u)^{-1} \nabla u \cdot \nabla \phi + \beta(x)\phi - g(x) f(u)^{-1} \phi \right) dx = 0.$$

Proceeding in the manner established above, we find

$$\begin{aligned} \int_{B(0,R+1)} \left(\frac{f'(u)}{f(u)^2} |\nabla u|^2 + \beta(x) \right) \phi dx &\leq \int_{B(0,R+1)} f(u)^{-1} |\nabla u| |\nabla \phi| dx \\ &\leq \frac{1}{2} \int_{B(0,R+1)} \frac{f'(u)}{f(u)^2} |\nabla u|^2 \phi dx + \frac{1}{2} \int_{B(0,R+1)} \frac{|\nabla \phi|^2}{f'(u)} \phi^{-1} dx \end{aligned}$$

so that

$$\begin{aligned} \int_{B(0,R+1)} \left(\frac{f'(u)}{f(u)^2} |\nabla u|^2 + \beta(x) \right) \phi \, dx &\leq \int_{B(0,R+1)} \frac{|\nabla \phi|^2}{f'(u)} \phi^{-1} \, dx \\ &\leq M \int_{B(0,R+1)} \frac{1}{f'(u)} \, dx \leq CR^{\alpha b+n} \end{aligned}$$

Once more, we have used conditions (*) and (3.1) in the last inequality. Recalling that $\phi \equiv 1$ on $B(0, R)$, the last inequality gives us the estimate

$$F(R) \leq CR^{\alpha b+n}.$$

This together with the estimate in Equation (3.3) gives $F(R^*) \leq CR^{\alpha b+n} \Psi(R)$ for all $R \geq R^*$. Thus

$$\int_{B(0,R^*)} \beta(x) \, dx \leq CR^{\alpha b+n} \Psi(R), \quad \text{for all } R \geq R^*.$$

But $R^{\alpha b+n} \Psi(R) \rightarrow 0$ as $R \rightarrow \infty$ provided that $a + \alpha b < 2$. this contradicts the fact that β is nonzero on \mathbb{R}^n , thus completing the proof.

In the next theorem, we show the nonexistence of entire radial solutions to Equation (1.1) that satisfy certain conditions. This we do for any $p > 1$. To this end, we introduce the following notation,

$$H_k(s) = \begin{cases} \frac{p-k}{p-1} s^{(p-1)/(p-k)} & \text{if } k \neq p \\ \ln s & \text{if } k = p \end{cases}, \quad s > 0$$

We then have the following result.

Theorem 3.2. *Suppose $\beta(x) \geq 0$ on $B(0, R_0)$ and that $\beta(x) \geq C_a |x|^{-a}$ for all $|x| \geq R_0$, for some constants $C_a > 0$, $a \in \mathbb{R}$, and $R_0 \geq 1$. Suppose also that f satisfies the following conditions:*

$$u(x) \geq f^{-1}(C_b |x|^{-b}), \quad \forall x \text{ with } |x| \geq R_0, \quad (3.4)$$

for some constant $C_b > 0$, b a real exponent with $b + a < n$, and such that

$$\lim_{R \rightarrow \infty} \left(f^{-1}(C_b R^{-b}) + \left(\frac{C_b C_b}{n - (a + b)} \right)^{1/(p-1)} H_{a+b}(R) \right) = \infty. \quad (3.5)$$

Then, when $g(x) \leq 0$ on \mathbb{R}^n , no entire radial solution of Equation (1.1) can be found.

Proof. Let u be a radial solution of Equation (1.1). Then, it is well known that u satisfies the ODE

$$(r^{n-1}|u'|^{p-2}u')' + r^{n-1}\beta(x)f(u) = r^{n-1}g(x), \quad u'(0) = 0.$$

From this we note that $u'(r) < 0$ for all $r > 0$. Thus, the above equation can be written as

$$-(r^{n-1}(-u')^{p-1})' + r^{n-1}\beta(x)f(u) = r^{n-1}g(x), \quad u'(0) = 0.$$

By condition (3.4) along with the hypothesis on $\beta(x)$ and $g(x)$ we conclude that

$$-(r^{n-1}(-u')^{p-1})' + C_a C_b r^{n-1-(a+b)} \leq 0, \quad u'(0) = 0.$$

Integrating this on $(0, r)$ and rearranging leads to

$$-u'(r) \geq r^{(1-n)/(p-1)} \left(\int_0^r s^{n-1-(a+b)} ds \right)^{1/(p-1)}.$$

Integrating once more on (r, R) we find

$$u(R) + (C_a C_b)^{1/(p-1)} \int_0^r t^{(1-n)/(p-1)} \int_0^t s^{n-1-(a+b)} dx \Big)^{1/(p-1)} dt \leq u(r).$$

Once again using condition (3.4), and recalling that $a + b < n$ we obtain:

$$f^{-1}(C_b R^{-b}) + \left(\frac{C_a C_b}{n - (a + b)} \right)^{1/(p-1)} (H_{a+b}(R) - H_{a+b}(r)) \leq u(r), \quad r < R.$$

In view of condition (3.4), this last inequality does not hold for any $R > r$.

Remark 3.3. If $p = 2$, then the word ‘‘radial’’ can be removed from the statement of Theorem 3.2.

This can be seen as follows. For $u \in C(\mathbb{R}^n)$, we denote by \bar{u} the spherical mean of u , namely:

$$\bar{u}(r) := \frac{1}{\omega_n r^{n-1}} \int_{|x|=r} u(y) d\sigma, \quad \text{for } r > 0, \quad \text{and} \quad \bar{u}(0) = u(0).$$

By taking the spherical mean of both sides of Equation (1.1), we obtain the following Cauchy problem:

$$\Delta \bar{u} + \bar{G}(r) = 0, \quad \bar{u}(0) = u(0), \quad \bar{u}'(0) = 0,$$

where $G(x) := \beta(x) f(u(x)) - g(x) \geq 0$. That is

$$(r^{n-1} \bar{u}')' + r^{n-1} \bar{G} = 0, \quad \bar{u}(0) = u(0), \quad \bar{u}'(0) = 0.$$

Proceeding as in the previous proof we recover the conclusion of Theorem 3.2.

ACKNOWLEDGEMENTS

The second author wishes to acknowledge the continuous support of the Kuwait University Research Administration (**KURA**) through Grant No. **SPM 179**.

REFERENCES

- Bernard, G. 1996.** *An inhomogeneous semilinear equation in entire space.* Journal of Differential Equations **125**: 184-214.
- Benjin, X. & Zucki, C. 2000.** *On the radial ground state of p -Laplacian equation involving super critical or critical exponents.* Journal of Partial Differential Equations **13**: 193-206.
- Gui, C. 1992.** *Positive entire solutions of $\Delta u + f(x, u) = 0$.* Journal of Differential Equations **99**: 245-280.
- Lin, F-H. 1985.** *On the elliptic equation $D_i(a_{ij}(x)D_j U) - k(x)U + K(x)U^p = 0$.* Proceedings of the American Mathematical Society **95**: 219-226.
- Mitidieri, E. Pokhozhaev, S. 1998.** *The absence of global positive solutions to quasilinear elliptic inequalities.* Russian Mathematik Dokladi Akademik Nauk **359**: 456-460.
- Ni, W. M. 1982a.** *On the elliptic equations $\Delta u + K(x)u^{(n+2)/(n-2)} = 0$, its generalizations, and applications in geometry.* Indiana University Math Journal **31**: 493-529.
- Ni, W.-M. 1982b.** *On the elliptic equation $\Delta u + K(x)e^{2u} = 0$, and conformal metrics with prescribed Gaussian curvatures.* Inventiones Mathematicas **66**: 343-352.
- Oleinik, O. A. 1978.** *On the equation $\Delta u + k(x)e^u = 0$.* Russian Mathematical Surveys **33**: 243-244.
- Pucci P. & Serrin, J. 1998a.** *Uniqueness of ground states for quasilinear elliptic operators.* Indiana University Math Journal **47**: 509-528.

Pucci P. & Serrin J. 1998b. *Uniqueness of ground states for quasilinear elliptic operators in the exponential case.* Indiana University Math Journal **47**: 529-539.

Sattinger, D.H. 1972. *Conformal metrics in \mathbb{R}^2 with prescribed curvature.* Indiana University Math Journal **22**: 1-4.

Sattinger, D.H. 1978. *Monotone methods in nonlinear elliptic and parabolic boundary value problems.* Indiana University Math Journal **33**: 243-244.

Tolksdorf, P. 1983. *On the Dirichlet problem for quasilinear equation in domains with conical boundary points.* Communications in Partial Differential Equations **8**: 773-817.

***Submitted* :** 5 August 2000

***Revised* :** 22 April 2001

***Accepted* :** 25 September 2001

عدم وجود حلول تامة لبعض المعادلات اللاخطية الناقصية

أحمد محمد* و فتحي بن محمد بلقاسم**

*قسم الرياضيات - جامعة تمبل

فيلاديفيا - 19122 - الولايات المتحدة الأمريكية

**قسم الرياضيات وعلم الحاسوب - جامعة الكويت

ص. ب 5969 الصفاة - 13060 دولة الكويت

خلاصة

في هذا البحث نعتبر المعادلات الناقصية التي على الصورة

$$\operatorname{div}(|\nabla u|^{p-2} \nabla u) + \beta(x) f(u) = g(x), \quad p > 1$$

حيث نبرهن أنه لا يوجد حلولاً تامة لهذه المعادلات وذلك ضمن الشروط على β و g وبفرض أن الدالة f ليست خطية. بعض الأمثلة النموذجية للدالة f تشمل الدالة الأسية ودالة القوة. تعتبر النتائج التي حصلنا عليها تعميماً لبعض النتائج المعروفة سابقاً عندما $p = 2$.